Processes | W + 2 jets, 1 tag | W + 3 jets, 1 tag | W + 2 jets, 2 tag | W + 3 jets, 2 tag |
tt 474 £ 49 1067 4+ 109 98 £+ 14 284 + 42
WW 148 + 21 48 £ 7 1.1+ 0.3 1.2 +0.3
WZ 53+ 6 14 + 2 8.8+ 1.3 24+04
77 1.7+ 0.2 0.7+ 0.1 0.3 £0.0 0.1 £0.0
Z+Jets 118 £ 15 46 £ 6 4.8 £0.7 2.7+£04
Whbb 1452 4+ 437 434 + 131 183 £ 56 65 + 20
Wee 766 £ 233 254 £ 77 10 + 3 (==
Wcj 583 + 177 128 + 39 7.8 +24 35+ 1.1
W+Mistags 1459 + 148 433 + 47 74+ 1.5 54+ 1.1
Non-W 316 + 126 141 + 57 6.8 +£ 3.5 3.4+ 3.2
t-channel 193 £ 25 84 £ 11 6+1 15+ 24
s-channel 128 +£ 11 43 +4 32+ 4 12+ 1.6
Wt-channel 16 +4 26 £ 7 0.7£0.2 2.3+0.6
Total Prediction 5707 £ 877 2719 + 293 367 £ 66 403 £ 53
Observed 5533 2432 335 355




